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Solve each proportion.  CROSS MULTIPLY!

1)  
10

x
 = 

2

7
2)  
m
8

 = 
5

7

3)  
9

2
 = 
m + 1

10
4)  
b - 10

9
 = 

9

6

Sketch the graph of each line.  USE Y=MX+B.  M = slope and B = y intercept

5)  y = -x + 2

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

6)  y = x + 5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6
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7)  y = -
1

3
x + 5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

8)  y = 3x + 4

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Solve each inequality and graph its solution.  REMEMBER TO FLIP THE INEQUALITY
WHEN DIVIDING BY A NEGATIVE.

9)  7 + 7n ³ -7(n + 7)

-6 -5 -4 -3 -2 -1 0 1 2 3 4

10)  2(3 + 5n) £ 16 + 8n

-1 0 1 2 3 4 5 6 7 8 9

11)  3 - 7(8 - v) < -7v - 39

-2 -1 0 1 2 3 4 5 6 7 8

12)  20 + 7a < -4(5a - 5)

-5 -4 -3 -2 -1 0 1 2 3 4 5
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Write the slope-intercept form (Y=MX+B) of the equation of each line.

13)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

14)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

Write the slope-intercept form (Y=MX+B) of the equation of each line given the slope and
y-intercept.

15)  Slope = -9,   y-intercept = -4
16)  Slope = 

4

3
,   y-intercept = 1

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given point
with the given slope.

17)  through: (1, 1),   slope = -
3

4
18)  through: (5, -2),   slope = -

6

5

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given points. 
Use the slope formula (y2-y1)/(x2-x1) to find the slope.

19)  through: (3, -5) and (-2, 2) 20)  through: (1, 2) and (1, -3)
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Answers to COVID-19 Packet #2 (ID: 1)

1)  {35} 2)  {5.71} 3)  {44} 4)  {23.5}
5)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

6)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

7)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

8)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

9)  n ³ -4 :  
-6 -4 -2 0 2 4

10)  n £ 5 :  
0 2 4 6 8

11)  v < 1 :  
-2 0 2 4 6 8

12)  a < 0 :  
-4 -2 0 2 4 13)  y = -

2

5
x + 2 14)  y = -

4

5
x - 4

15)  y = -9x - 4
16)  y = 

4

3
x + 1 17)  y = -

3

4
x + 

7

4
18)  y = -

6

5
x + 4

19)  y = -
7

5
x - 

4

5

20)  x = 1
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Solve each proportion.  CROSS MULTIPLY!

1)  
a
5

 = 
8

3
2)  
k
2

 = 
9

6

3)  
9

6
 = 
x - 3

8
4)  
x - 5

4
 = 

4

9

Sketch the graph of each line.  USE Y=MX+B.  M = slope and B = y intercept

5)  y = -
7

2
x + 4

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

6)  y = 3x + 5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6
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7)  y = -
3

2
x + 5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

8)  y = -
4

3
x - 5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Solve each inequality and graph its solution.  REMEMBER TO FLIP THE INEQUALITY
WHEN DIVIDING BY A NEGATIVE.

9)  -n - 38 > -5(2 - n) + 8

-10 -8 -6 -4 -2 0

10)  -3(2a + 7) £ -8a - 21

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2

11)  -4(6x - 5) > 20 + 2x

-7 -6 -5 -4 -3 -2 -1 0 1 2 3

12)  8v - 40 < -8 + 7(v - 5)

-10 -8 -6 -4 -2



©w g2s0Z2X0[ WKnurtTar iSCojf`tpwraDrZeg YLZLUCn.F z UAIlLlp mryiFgsh[tMsh OraeDsteSrAvLeJdY.L G FMTaddHeM DwkiFtIhc kIwn\fIiBnHigtEex OAFlugseTbArya^ o1o.

Worksheet by Kuta Software LLC

-3-

Write the slope-intercept form (Y=MX+B) of the equation of each line.

13)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

14)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

Write the slope-intercept form (Y=MX+B) of the equation of each line given the slope and
y-intercept.

15)  Slope = 1,   y-intercept = -5 16)  Slope = -1,   y-intercept = -2

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given point
with the given slope.

17)  through: (-4, -2),   slope = 
1

2
18)  through: (-5, -5),   slope = 

8

3

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given points. 
Use the slope formula (y2-y1)/(x2-x1) to find the slope.

19)  through: (4, 0) and (-4, 1) 20)  through: (1, -3) and (-2, 0)
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Answers to COVID-19 Packet #2 (ID: 2)

1)  {13.33} 2)  {3} 3)  {15} 4)  {6.78}
5)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

6)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

7)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

8)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

9)  n < -6 :  
-10 -8 -6 -4 -2 0

10)  a £ 0 :  
-8 -6 -4 -2 0 2

11)  x < 0 :  
-6 -4 -2 0 2

12)  v < -3 :  
-10 -8 -6 -4 -2 13)  y = -

4

3
x - 1

14)  y = -2x + 4

15)  y = x - 5 16)  y = -x - 2
17)  y = 

1

2
x 18)  y = 

8

3
x + 

25

3

19)  y = -
1

8
x + 

1

2

20)  y = -x - 2
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Solve each proportion.  CROSS MULTIPLY!

1)  
8

4
 = 

10

m
2)  

8

9
 = 
r
3

3)  
3

10
 = 
n + 9

4
4)  

4

5
 = 
k - 5

7

Sketch the graph of each line.  USE Y=MX+B.  M = slope and B = y intercept

5)  y = -
1

2
x - 3

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

6)  y = -
7

5
x + 2

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6
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7)  x = -5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

8)  y = -
5

2
x + 4

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Solve each inequality and graph its solution.  REMEMBER TO FLIP THE INEQUALITY
WHEN DIVIDING BY A NEGATIVE.

9)  1 + 7x < -6x - 7(1 - 2x)

5 6 7 8 9 10 11 12 13 14 15

10)  -8 - 2n £ -4(8 - n) - 2n

2 3 4 5 6 7 8 9 10 11 12

11)  -31 - 5v ³ -7 - (8 + 7v)

3 4 5 6 7 8 9 10 11 12 13

12)  2(-5x + 2) ³ -11 - 5x

-4 -3 -2 -1 0 1 2 3 4 5 6
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Write the slope-intercept form (Y=MX+B) of the equation of each line.

13)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

14)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

Write the slope-intercept form (Y=MX+B) of the equation of each line given the slope and
y-intercept.

15)  Slope = 3,   y-intercept = 3 16)  Slope = -3,   y-intercept = 2

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given point
with the given slope.

17)  through: (-1, -4),   slope = 2
18)  through: (-3, -4),   slope = 

5

3

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given points. 
Use the slope formula (y2-y1)/(x2-x1) to find the slope.

19)  through: (-5, 4) and (0, -3) 20)  through: (-4, 0) and (2, -4)
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Answers to COVID-19 Packet #2 (ID: 3)

1)  {5} 2)  {2.67} 3)  {-7.8} 4)  {10.6}
5)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

6)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

7)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

8)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

9)  x > 8 :  
6 8 10 12 14

10)  n ³ 6 :  
2 4 6 8 10 12

11)  v ³ 8 :  
4 6 8 10 12

12)  x £ 3 :  
-4 -2 0 2 4 6 13)  y = 

10

3
x - 5 14)  y = -

2

3
x - 1

15)  y = 3x + 3 16)  y = -3x + 2 17)  y = 2x - 2
18)  y = 

5

3
x + 1

19)  y = -
7

5
x - 3 20)  y = -

2

3
x - 

8

3
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Solve each proportion.  CROSS MULTIPLY!

1)  
2a
9

 = 
7

6
2)  

6

5
 = 

5

p

3)  
k - 9

7
 = 

10

3
4)  
n - 1

5
 = 

6

8

Sketch the graph of each line.  USE Y=MX+B.  M = slope and B = y intercept

5)  y = -
5

2
x - 2

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

6)  y = x - 3

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6
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7)  y = -
5

3
x

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

8)  y = -10x + 5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Solve each inequality and graph its solution.  REMEMBER TO FLIP THE INEQUALITY
WHEN DIVIDING BY A NEGATIVE.

9)  -27 - 8x ³ -3(5x + 2)

-1 0 1 2 3 4 5 6 7 8 9

10)  -3x < 3(x - 2)

-4 -3 -2 -1 0 1 2 3 4 5 6

11)  -4 + 3v ³ -7(-4 - 5v)

-6 -5 -4 -3 -2 -1 0 1 2 3 4

12)  -7x - 8(1 + 2x) < -3x - 8

-6 -5 -4 -3 -2 -1 0 1 2 3 4
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Write the slope-intercept form (Y=MX+B) of the equation of each line.

13)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

14)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

Write the slope-intercept form (Y=MX+B) of the equation of each line given the slope and
y-intercept.

15)  Slope = -
5

4
,   y-intercept = -3 16)  Slope = 

5

2
,   y-intercept = -3

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given point
with the given slope.

17)  through: (-5, -5),   slope = 1
18)  through: (-5, -4),   slope = 

4

5

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given points. 
Use the slope formula (y2-y1)/(x2-x1) to find the slope.

19)  through: (2, -4) and (2, -5) 20)  through: (1, 2) and (-3, -4)
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Answers to COVID-19 Packet #2 (ID: 4)

1)  {5.25} 2)  {4.17} 3)  {32.33} 4)  {4.75}
5)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

6)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

7)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

8)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

9)  x ³ 3 :  
0 2 4 6 8

10)  x > 1 :  
-4 -2 0 2 4 6

11)  v £ -1 :  
-6 -4 -2 0 2 4

12)  x > 0 :  
-6 -4 -2 0 2 4

13)  y = x + 2 14)  y = 3x

15)  y = -
5

4
x - 3 16)  y = 

5

2
x - 3

17)  y = x
18)  y = 

4

5
x

19)  x = 2
20)  y = 

3

2
x + 

1

2
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Solve each proportion.  CROSS MULTIPLY!

1)  
6

x
 = 

10

5
2)  

8

r
 = 

2

5

3)  
7

x + 3
 = 

3

2
4)  

6

10
 = 

4

x + 5

Sketch the graph of each line.  USE Y=MX+B.  M = slope and B = y intercept

5)  y = 
1

4
x + 3

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

6)  y = -5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6



©W W2U0X2M0v rKvu\tWaY RSnoafAtYwDatrbeR NLpLsCv.^ s GAhlklo trWipg`hntlsL frTegsDeDryvueidE.v t uMFaGd^ez vwFiltFhA HI]nNfyimnJiNtceR EAglfgoejblrban k1n.
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7)  x = -4

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

8)  y = 
3

4
x + 2

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Solve each inequality and graph its solution.  REMEMBER TO FLIP THE INEQUALITY
WHEN DIVIDING BY A NEGATIVE.

9)  1 - 8m > 8(1 - 8m) - 7

-6 -5 -4 -3 -2 -1 0 1 2 3 4

10)  -4(-3r - 4) £ -40 + 4r

-10 -8 -6 -4 -2

11)  -(1 - 4b) ³ -1 + 4b

-7 -6 -5 -4 -3 -2 -1 0 1 2 3

12)  -3(8 - 5r) ³ 32 + 7r

2 3 4 5 6 7 8 9 10 11 12
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Write the slope-intercept form (Y=MX+B) of the equation of each line.

13)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

14)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

Write the slope-intercept form (Y=MX+B) of the equation of each line given the slope and
y-intercept.

15)  Slope = 
5

3
,   y-intercept = 4 16)  Slope = -

2

3
,   y-intercept = -3

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given point
with the given slope.

17)  through: (2, 1),   slope = -2 18)  through: (-5, 3),   slope = undefined

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given points. 
Use the slope formula (y2-y1)/(x2-x1) to find the slope.

19)  through: (0, -4) and (-3, 3) 20)  through: (4, -5) and (5, 1)
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Answers to COVID-19 Packet #2 (ID: 5)

1)  {3} 2)  {20} 3)  {1.67} 4)  {1.67}
5)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

6)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

7)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

8)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

9)  m > 0 :  
-6 -4 -2 0 2 4

10)  r £ -7 :  
-10 -8 -6 -4 -2

11)  { All real numbers. } :  
-5 0

12)  r ³ 7 :  
2 4 6 8 10 12

13)  y = -3x + 5 14)  y = -2x

15)  y = 
5

3
x + 4 16)  y = -

2

3
x - 3

17)  y = -2x + 5 18)  x = -5

19)  y = -
7

3
x - 4

20)  y = 6x - 29
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Algebra 1A

COVID-19 Packet #2

Name___________________________________  ID: 6

Date________________  Period____
©s v2I0B2S0d kKRuJtZax fSAokf`tewkakrNel FLJLXCT.q Q eAplclj irWi^gDhctusl zroedsiearmvye]dk.

-1-

Solve each proportion.  CROSS MULTIPLY!

1)  
a
3

 = 
5

10
2)  

5

k
 = 

7

4

3)  
8

7
 = 
m + 5

8
4)  

10

r - 9
 = 

6

7

Sketch the graph of each line.  USE Y=MX+B.  M = slope and B = y intercept

5)  y = -2x + 4

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

6)  y = -x + 1

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6
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Worksheet by Kuta Software LLC

-2-

7)  y = 2x + 3

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

8)  y = 
7

4
x - 3

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Solve each inequality and graph its solution.  REMEMBER TO FLIP THE INEQUALITY
WHEN DIVIDING BY A NEGATIVE.

9)  4 - 4(4b + 5) < -40 - 8b

0 1 2 3 4 5 6 7 8 9 10

10)  -31 + 5n < 4n + 8(2 + 6n)

-6 -5 -4 -3 -2 -1 0 1 2 3 4

11)  -2(3 - 6v) ³ -v - 32

-10 -8 -6 -4 -2 0

12)  -7v - 18 £ -6(-8 + 3v)

3 4 5 6 7 8 9 10 11 12 13
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Write the slope-intercept form (Y=MX+B) of the equation of each line.

13)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

14)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

Write the slope-intercept form (Y=MX+B) of the equation of each line given the slope and
y-intercept.

15)  Slope = -
2

5
,   y-intercept = 1

16)  Slope = 0,   y-intercept = -5

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given point
with the given slope.

17)  through: (-2, -5),   slope = 
1

2
18)  through: (1, 5),   slope = -

10

3

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given points. 
Use the slope formula (y2-y1)/(x2-x1) to find the slope.

19)  through: (2, 2) and (2, 5) 20)  through: (-3, 4) and (5, -1)



©J j2W0C2R0x gKAuDtXaG SSIoKfitjwqajr]eY WLsL[Cl.T f HAylalk wrEiFgkh_tXsS MroePsjekrEvyeFdV.^ T wMnasdleD QwpiOtPhI uIhnEfOifnJiStmev jAeleg^eLb]rVaL X1K.

Worksheet by Kuta Software LLC

-4-

Answers to COVID-19 Packet #2 (ID: 6)

1)  {1.5} 2)  {2.86} 3)  {4.14} 4)  {20.67}
5)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

6)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

7)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

8)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

9)  b > 3 :  
0 2 4 6 8 10

10)  n > -1 :  
-6 -4 -2 0 2 4

11)  v ³ -2 :  
-10 -8 -6 -4 -2 0

12)  v £ 6 :  
4 6 8 10 12 13)  y = -

3

5
x - 1

14)  y = -x + 5

15)  y = -
2

5
x + 1

16)  y = -5
17)  y = 

1

2
x - 4 18)  y = -

10

3
x + 

25

3
19)  x = 2

20)  y = -
5

8
x + 

17

8
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Algebra 1A

COVID-19 Packet #2

Name___________________________________  ID: 7

Date________________  Period____
©w c2P0K2i0A qKOuNtla\ HSfoTfmtkwZa^rCez xLoLnCy.e O PAoljlf TrAiGg]hZtqsu prTeqsHe_rZvaePdq.

-1-

Solve each proportion.  CROSS MULTIPLY!

1)  
9

x
 = 

3

8
2)  

4

3
 = 
n
5

3)  
8

6
 = 

7

n + 7
4)  

9

a + 1
 = 

8

9

Sketch the graph of each line.  USE Y=MX+B.  M = slope and B = y intercept

5)  y = 
1

5
x

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

6)  y = 0

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6
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7)  y = 
7

3
x + 5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

8)  y = 
2

5
x - 2

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Solve each inequality and graph its solution.  REMEMBER TO FLIP THE INEQUALITY
WHEN DIVIDING BY A NEGATIVE.

9)  -5(x + 8) + 4 < -30 - 7x

-2 -1 0 1 2 3 4 5 6 7 8

10)  6n - 33 > 3(8n + 1)

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2

11)  -18 - 2b > 6(8b - 3)

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2

12)  16 + 7x ³ -3 - 2(1 - 2x)

-14 -12 -10 -8 -6 -4
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Write the slope-intercept form (Y=MX+B) of the equation of each line.

13)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

14)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

Write the slope-intercept form (Y=MX+B) of the equation of each line given the slope and
y-intercept.

15)  Slope = 
9

2
,   y-intercept = -4

16)  Slope = 3,   y-intercept = 2

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given point
with the given slope.

17)  through: (-5, 0),   slope = -
2

5
18)  through: (4, 3),   slope = 

1

4

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given points. 
Use the slope formula (y2-y1)/(x2-x1) to find the slope.

19)  through: (-5, -2) and (3, 4) 20)  through: (3, -3) and (0, 2)
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Answers to COVID-19 Packet #2 (ID: 7)

1)  {24} 2)  {6.67} 3)  {-1.75} 4)  {9.13}
5)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

6)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

7)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

8)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

9)  x < 3 :  
-2 0 2 4 6 8

10)  n < -2 :  
-8 -6 -4 -2 0 2

11)  b < 0 :  
-8 -6 -4 -2 0 2

12)  x ³ -7 :  
-14 -12 -10 -8 -6 -4

13)  y = 2x + 4 14)  y = -4x + 5

15)  y = 
9

2
x - 4

16)  y = 3x + 2
17)  y = -

2

5
x - 2 18)  y = 

1

4
x + 2

19)  y = 
3

4
x + 

7

4
20)  y = -

5

3
x + 2
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Algebra 1A

COVID-19 Packet #2

Name___________________________________  ID: 8

Date________________  Period____
©[ G2N0k2y0h bKFuytMa^ QSOokfZtawTa`r_eg hLYLdCd.p Z LAvlilX \rviZgHhPtGsQ FrPeEsvefrmvse[dm.
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Solve each proportion.  CROSS MULTIPLY!

1)  
6

n
 = 

8

5
2)  

2

9
 = 

7

v

3)  
r + 6

4
 = 

10

7
4)  

5

6
 = 
x - 5

10

Sketch the graph of each line.  USE Y=MX+B.  M = slope and B = y intercept

5)  y = -
2

5
x - 3

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

6)  y = 2x + 1

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6
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7)  y = -
1

5
x + 2

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

8)  y = -
1

2
x + 5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Solve each inequality and graph its solution.  REMEMBER TO FLIP THE INEQUALITY
WHEN DIVIDING BY A NEGATIVE.

9)  -a + 27 ³ -4(3a + 7)

-10 -8 -6 -4 -2 0

10)  -k + 4(-3 + k) £ 7k - 36

3 4 5 6 7 8 9 10 11 12 13

11)  -22 - 6x < -4x - 6(2x - 8)

2 3 4 5 6 7 8 9 10 11 12

12)  3(x - 3) + 4x ³ -15 + 6x

-14 -12 -10 -8 -6 -4
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Write the slope-intercept form (Y=MX+B) of the equation of each line.

13)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

14)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

Write the slope-intercept form (Y=MX+B) of the equation of each line given the slope and
y-intercept.

15)  Slope = -
1

3
,   y-intercept = 4 16)  Slope = 

3

4
,   y-intercept = -1

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given point
with the given slope.

17)  through: (-4, 3),   slope = -
1

4

18)  through: (2, 3),   slope = 4

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given points. 
Use the slope formula (y2-y1)/(x2-x1) to find the slope.

19)  through: (-1, -5) and (3, -2) 20)  through: (-1, -4) and (5, 4)
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Answers to COVID-19 Packet #2 (ID: 8)

1)  {3.75} 2)  {31.5} 3)  {-0.29} 4)  {13.33}
5)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

6)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

7)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

8)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

9)  a ³ -5 :  
-10 -8 -6 -4 -2 0

10)  k ³ 6 :  
4 6 8 10 12

11)  x < 7 :  
2 4 6 8 10 12

12)  x ³ -6 :  
-14 -12 -10 -8 -6 -4

13)  y = -3x
14)  y = 

3

2
x - 4

15)  y = -
1

3
x + 4 16)  y = 

3

4
x - 1 17)  y = -

1

4
x + 2

18)  y = 4x - 5

19)  y = 
3

4
x - 

17

4
20)  y = 

4

3
x - 

8

3
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Algebra 1A

COVID-19 Packet #2

Name___________________________________  ID: 9

Date________________  Period____
©F m2N0[2q0d CKAuxtHaN pSIoHfUtMwSaUrRe[ \L`LdC_.v w \AFltlI ArniigmhwtNsg mroensOehrkvFeYdc.

-1-

Solve each proportion.  CROSS MULTIPLY!

1)  
4

x
 = 

8

5
2)  

5

8
 = 

6

k

3)  
x - 1

4
 = 

3

6
4)  

9

3
 = 
n + 6

8

Sketch the graph of each line.  USE Y=MX+B.  M = slope and B = y intercept

5)  y = 3x - 1

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

6)  y = -
7

2
x + 2

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6
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7)  y = -
8

5
x - 3

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

8)  y = x + 3

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Solve each inequality and graph its solution.  REMEMBER TO FLIP THE INEQUALITY
WHEN DIVIDING BY A NEGATIVE.

9)  -4 + 3(3k - 5) > 4k + 11

-2 -1 0 1 2 3 4 5 6 7 8

10)  3x - 14 < -(x - 6)

-3 -2 -1 0 1 2 3 4 5 6 7

11)  4(p + 6) > 12 + 8p

-5 -4 -3 -2 -1 0 1 2 3 4 5

12)  -4x - 4(4 + 8x) < 25 + 5x

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2
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Write the slope-intercept form (Y=MX+B) of the equation of each line.

13)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

14)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

Write the slope-intercept form (Y=MX+B) of the equation of each line given the slope and
y-intercept.

15)  Slope = 0,   y-intercept = 4
16)  Slope = 

1

2
,   y-intercept = -3

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given point
with the given slope.

17)  through: (-5, 5),   slope = -
1

2

18)  through: (4, -3),   slope = 0

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given points. 
Use the slope formula (y2-y1)/(x2-x1) to find the slope.

19)  through: (-3, 2) and (-3, -2) 20)  through: (1, 2) and (0, 5)
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Answers to COVID-19 Packet #2 (ID: 9)

1)  {2.5} 2)  {9.6} 3)  {3} 4)  {18}
5)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

6)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

7)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

8)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

9)  k > 6 :  
-2 0 2 4 6 8

10)  x < 5 :  
-2 0 2 4 6

11)  p < 3 :  
-4 -2 0 2 4

12)  x > -1 :  
-8 -6 -4 -2 0 2 13)  y = -

5

3
x - 1

14)  y = 3x + 1

15)  y = 4
16)  y = 

1

2
x - 3 17)  y = -

1

2
x + 

5

2

18)  y = -3

19)  x = -3 20)  y = -3x + 5
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Solve each proportion.  CROSS MULTIPLY!

1)  
n
7

 = 
10

5
2)  

9

2
 = 

9r
6

3)  
9

x - 10
 = 

4

2
4)  
n - 2

8
 = 

10

3

Sketch the graph of each line.  USE Y=MX+B.  M = slope and B = y intercept

5)  y = -3x

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

6)  y = -3x + 5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6
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7)  y = 
8

5
x + 5

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

8)  y = 
1

5
x

x

y

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6

-5

-4

-3

-2

-1

1

2

3

4

5

6

Solve each inequality and graph its solution.  REMEMBER TO FLIP THE INEQUALITY
WHEN DIVIDING BY A NEGATIVE.

9)  4p - 28 < -4(p + 7)

-3 -2 -1 0 1 2 3 4 5 6 7

10)  -7b + 18 < -6(-3b - 3)

-5 -4 -3 -2 -1 0 1 2 3 4 5

11)  -5 + 2x > 7(7x + 6)

-3 -2 -1 0 1 2 3 4 5 6 7

12)  17 - 7x £ 2(5 - 5x) + 2x

-14 -12 -10 -8 -6
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Write the slope-intercept form (Y=MX+B) of the equation of each line.

13)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

14)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

Write the slope-intercept form (Y=MX+B) of the equation of each line given the slope and
y-intercept.

15)  Slope = -1,   y-intercept = -2 16)  Slope = 7,   y-intercept = 4

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given point
with the given slope.

17)  through: (3, 2),   slope = undefined 18)  through: (-4, -5),   slope = 0

Write the slope-intercept form (Y=MX+B) of the equation of the line through the given points. 
Use the slope formula (y2-y1)/(x2-x1) to find the slope.

19)  through: (-4, -2) and (-2, 1) 20)  through: (-5, -5) and (-1, -1)
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Answers to COVID-19 Packet #2 (ID: 10)

1)  {14} 2)  {3} 3)  {14.5} 4)  {28.67}
5)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

6)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

7)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

8)  

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

9)  p < 0 :  
-2 0 2 4 6

10)  b > 0 :  
-4 -2 0 2 4

11)  x < -1 :  
-2 0 2 4 6

12)  x £ -7 :  
-14 -12 -10 -8 -6 13)  y = -

1

5
x - 3

14)  y = -4x + 1

15)  y = -x - 2 16)  y = 7x + 4 17)  x = 3 18)  y = -5

19)  y = 
3

2
x + 4

20)  y = x


